Bellwork  Alg2  Thursday, January 24, 2019 Ars /”—é

1. The function f'is defined by f(x) = |x — 2| - 3. If {la) = {0) and a > 0, what is the value of a ?
A)3 B)4 C)5 D)6

2. If {a* + {a* = a" for all values of a, what is the value of n ?
8 3 22, 1L
2) 15 B) 4 C) 15 D) 4

3. If aand b are positive numbers such that 26 = 34, what is the value of _a-g_b?

4. Martin spent $855 on expenses for a trip. The expenses included hotel, rental car, and meals. He
spent 50 percent more for the hotel than for the rental car and meals combined. What did Martin spend
on his hotel? '

A) $570 B) $513 C) $214 D) $155



Bellwork  Alg2  Thursday, January 24, 2019 m

1. The func o\nfls defined by f{x) = |x — 2| - 3. If fla) = f0) and a>J0 0, what is the value of a ?
A) 3 @ C)5 D)6

£ = [x-el - fo=+()
£ = \o—z.[-s: (-L! T2 e - = (Ct—zl_
_. +3 +3
fla) = ’q—z,—g |
= |a-2]
A= C)D\"(L(
2 If{/?‘_',’/c?=a" for all values of a, what is the value of n ?
H L B2 @ pj AL
: el
an: \5/31‘- S \;/Z—L =85 "2 T 15 15
I s 27
L > s t73 = '_,._
otz a®ead> = G - |1s

3. If a and b are positive numbers such that 25 = 3a, what is the value of abLb?

?_B Sa
> S ZeT o
2 b
= Z g b

4. Martin spent $855 on expenses for a trip. The expenses included hotel, rental car, and meals. He
spent 50 percent more for the hotel than for the rental car and meals combined. What did Martin spend

on his hotel?
A) $570  [B) $513 } C) $214 D) $155 S0/ were = (oo +50 = /SO,
=
b i =M = &85 H = /5/6#@
-t -
et m = £S5 -t —> H = [.5(F55 /Q

/74 = [2ELS "/-5/7/

/.54 /.5 H
H=545 : S L s 1
G 2.54 = (26D
o 257



